
Computer Science I – Spring 2012 
Lab:  Base Conversion (Solutions) 

 
 

1) Convert 111010112 to decimal. 
 

111010112 = 27 + 26 + 25 + 23 + 21 + 20 = 23510 
 
 
 
2) Convert 93710 to binary. 
 

937 / 2 = 468 R 1 
468 / 2 = 234 R 0 
234 / 2 = 117 R 0 
117 / 2 =   58 R 1 
  58 / 2 =   29 R 0 
  29 / 2 =   14 R 1 
  14 / 2 =     7 R 0 
    7 / 2 =     3   R 1 
    3 / 2 =     1 R 1 
    1 / 2 =     0 R 1, so 93710 = 11101010012. 

 
 
 
3) Convert 29410 to binary. 
 

294 / 2 = 147 R 0 
147 / 2 =   73 R 1 
  73 / 2 =   36 R 1 
  36 / 2 =   18 R 0 
  18 / 2 =     9 R 0 
    9 / 2 =     4 R 1 
    4 / 2 =     2 R 0 
    2 / 2 =     1   R 0 
    1 / 2 =     0 R 1, so 29410 = 1001001102. 

 
 
 
4) Convert 28DE7C16 to octal (base 8) 
 

28DE7C16 = 0010 1000 1101 1110 0111 11002 = 121571748. 
 
 
 
 



 
5) Convert 4312025 to base 7 
 

4312025 = 4x55 + 3x54 + 1x53 + 2x52 + 2x50 = 1455210. 
 
14552 / 7 = 2078  R 6 
  2078 / 7 =   296 R 6 
    296 / 7 =     42 R 2 
      42 / 7 =  6 R 0 
        6 / 7 =       0 R 6, so 4312025 = 602667. 

 


